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Name ________________________________________ Class_________ Sec._________ Roll No.________ 

Note:  All the answers to be done on the question paper itself.    

1)   Mental  Maths:                                                                         (1x5=5) 

a)   8 x 4 =_________ 

b)  79 – 49 =_________ 

c)  _____ – 0 = 74 

d)  opposite sides of a ___________are equal. 

e)  9 x 9 = __________ 

 

2) Multiple choice questions :                                           (1x5=5) 

a)   A set square is an example of a 

       (i)  circle (   )                   (ii)  square (   )      (iii)  triangle (   ) 

b)  23 −12 is  

     (i)  10 (    )       (ii)  11 (     )        (iii)   9 (    ) 

c)   If  96−43 = 53 then, 96−53 is 

     (i)  18 (    )        (ii)  96 (    )        (iii)  43 (    ) 

d)   All the sides of a ________are equal. 

(i) square (    )     (ii)  triangle (    )      (iii)  circle (    ) 

e)   Anuj has 60 pencils and Ankur has 12 pencils.  Total number of pencils are – 

   (i)  72 (   )       (ii)  43 (   )      (iii)  51 (   ) 

3)  Subtract the following:-                                                                                               (1x4=4) 

a)        H  T O    b)   H T O 

        9 9 3                      6 5 2 

           − 2 7 2                                                 − 3 2 8 

                     _______                                               ______ 

 

c)       H T O                                                d)  H T O 

                      7 6 2                                                       4 0 0 

         − 5 3 0                                                     −2 6 2 

              ______                                                    ______ 
Cont’d….2/- 

 



-2-            (Class 2, Maths, 14.11.14) 

4)   Solve :                                                                                                                                     (2x2=4) 

a)  A fruitseller has 298 mangoes.   He sold 128 of them.  How many mangoes are left  

with him? 

 

 

 

 

 

 

 

b)  In a school there are 342 boys and 288 girls. What is the total number of students in 
the school? 

 

 

 

 

 

 

 

 5)   Count the number of triangles,  circles, squares and rectangles in the following figure:-                                                                                     

(
1

2
x4=2) 

 

 

 

 

 

Triangles     ______________ 

Circles         ______________ 

 Squares        ______________ 

Rectangles  ______________ 
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